





It V‘F(P)*-O‘ . then P

is not o local max or min

Z

Hxnd) =2




It V‘F(?)*a . then P

is not o local max or min
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It V-F(P)*a . then P

is not o local max or min

Z

HXAJ) =2




Pfo\:lemsf

O $(x, 9= %xd-x+§ +3y.
Fiﬂa a“ cri-ﬁca| POiﬂ“‘S o Iﬂ JiCﬁ“'e w‘\ef\ner
each criticel point qives o local max,

local min, or a saddle point.







To porametrize a s'l‘raisln-l' line
between P:9 CRZ . use

9  T®):=t(q-p)+p




-ro Pafame‘l’fi?.e [/ S‘l'raisk'l' line
between P.9 sz , use

r®)=t(g-p)+P
QOst sl

1

T®)

P

Examrl_e: Parometvize the stra
between (2,3) and (5,7).

isk'l' Iine



To Parameffi?.e o. s+ra33h'l' line
between P.9 CRZ ,  use

T

EXGMP|_€: Parvometvize the stra
between (2,3) and (5,7).

0<t<l, t((57)-(2.3))+(23)= (3t+2,4¢+3)

is‘\'l' Iine




















































mox/min of f:R-2R on [a,b]

critical PoiV\‘l’S - Q, b ' P12 P2

max/min will be omong 'f (a);?( b),'p(?o). and ‘P(P)




Pfo\ﬂems.’

0, Hx,\p: Y x>-x+ 32*3‘3'-
Fiﬂa a“ cri-ﬁcal POiﬂ“‘S . In JiCG‘te wkef\uer
each criticel point qives o local max,

local min , or a saddle Po'mf.

@ Find mox ond min for $(x.3)=xg- on
the domain S-= i("ca) =lgxs], "53“}.

@ Fi'\a moX Ohd min -?gr -P(x’ 3,) = 3zz+3z
on the domain S= i(x,a) x4 a} < 25}'










